Vectors - Practice Quiz Name

1. Write the vector with initial point (-4, 3) and terminal point (-1, —7) in ...
a. component form

b. sum of unit vectors form

2. In what quadrant does the vector above lie when it is in standard position?

3. Given V = <3, —5> and W = <—2, 6> , find the following:
a V+Ww

b. W—V
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4. Given \7 = <—3, \/§> , find the following, to the nearest tenth: (3 points each)
a. the magnitude of V: H\?H =

b. the direction of \7 : 0=

5. Given: Hé” =06,

BH = 8, and the angle between the vectors O =57°

a. Draw and label a parallelogram, including the given information and the resultant vector.

b. Find the magnitude of the resultant vector to the nearest tenth.

b. Find the measure of the angle between the resultant vector and @ to the nearest tenth.

6. Given: W = —27—6]:

a. Write the vector in components form.

b. Find the unit vector in the direction of W. (No decimals in your answer!)



